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Ch. 1 Review

Plot the data from the given chart
on a scatter plot.
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Determine whether the table represents a linear
relationship. If so, write the next ordered pair

that would appear in the table. =
- L o Y
3l 316 [9 |12
el -5 | 3|1 -1]11

= W L

. g

2
3.Graph: y= 35 1
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Find the slope of the line that goes through (34) & (-1.2).
Find the slope of the line parallel to v = —;_\- -2

Find the slope of the line 3v = 4x
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Write an equation for the line going through (-2.2) & (-2.3).
=
~1LxZ
Write an equation for the line parallel o y = 2v - |
and passes through (4.-2). =2 = L(‘-D * b
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Write the equation y = B 5 in standard form.

(Av+By=0  BY = L ¥ =S
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Solve the proportion: —==".

If v varies directly as x and y =3 when x = 15,
what is y when xis 127
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Solve the proportion:
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13.  Solve A=mrs+mr for'm.
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14. Solve F=2C+ 32 forC’.
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15. Solve A——(b +b,) for '’

’LA

b, Hol
Solve cach equation:

16. 2r=9=17 :

————
17,  —:—9=6
‘ 17. 45
18, Sr+1=4x-32 - '5/?’{
18.
ya = 7 e
Solve and graph each inequality on a number line.
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Solve and graph each absolute value inequality on a number line.
26523 = Z.J<-7 -2
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